50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Max. Marks:100

Note: Answer any FIVE full questions, selecltiléggz\gt?east TWO full quest‘(i(ms' from each part.

PART - A
Why is packet switching more suitable than message switching for interactive applications?
Compare the delays in datagram packet switching and message switching. (06 Marks)
Define routing and forwardmg“’%What are the goals of a routmg algorithm? Discuss about
flooding. 7 A 4 (06 Marks)
Develop an algorithm to ﬁnd shortest paths from a node to all nodes of a graph. Determine
shortest path from node ﬁve (5) to other nodes ina gwen graph. Fig.Q1(c). (08 Marks)

State the purpose of trafﬁc management-at ﬂow level and discuss about congestion control

algorlthms . : (08 Marks)
What is fragrnentatlon‘7 What are the causes for fragmentatlon? (08 Marks)
Identify the address class of the following input addresses:

(1) 14.6.12.1

(i)« 1231412114 .
(iii) - 197.125.1.1

(iv)” 243.18.16. 2 (04 Marks)
. “Identify the classes of followmg IP-address:
(i) 111.168.70.5 (1) 199. 133.5.81
(iii)  139.0.0.99 (iv) 192.168.72.1 (04 Marks)
What is supernetting? Explain with an example. (06 Marks)
Find the subnet address for the IP.: 150.100.12.176 consider 7-bits for host address.
(04 Marks)
Compare and contrast IPV4 with IPVs. (06 Marks)
Give the general structure of TCP segment and write the purpose of each element in it.
(06 Marks)
Explain the steps. mvolved in mobile IP routing. (06 Marks)
Show how TCP connection is established using three way handshaking? Why unique initial
sequence number is needed for each new connection? (08 Marks)
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PART - B ;
Explain how recursive and iterative mapping of IP addresses are done in DNS servers.
(06 Marks)
Briefly explain the steps of DES algorithm. (g, (06 Marks)

Which are the types of attacks that can occur on an mternet infrastructure? Explain.

~~~~~~~

(08 Marks)
Discuss the different resource allocation schemes ~ (06 Marks)
What are the QoS methods in mtegrated service? Explain admrssron control and RSVP
protocol. , (07 Marks)
Write a note on virtual private network (VPN) * (07 Marks)

»»»»»»»»

value from[-2,-1,0, I, 2] """" and correspondmg probablht“’ies [O 05, 0.05, 0.08, 0.30, 0.52]
then find its entropy (06 Marks)
What is the purpose of RTP? Discuss the design of 1ts packet. (06 Marks)
Explain the steps of Huffman encoding and perform Huffman encoding for a source
generating {ai, az, a3, as, as} with probabilities {0.52, 0.3, 0.08, 0.05, 0.05} respectively.

, CMRIT LIBRARY (08 Marks)
""" BANGALORE -
Explain w1th neat dlagram, Decentrahzed Energy Efficient Propagation protocol (DEEP).
(08 Marks)
Explain Iow energy adaptive clustermg h1erarchy (05 Marks)
Explain adhoc on demand dlstance vector routing protocol (07 Marks)

* %k ok ok ok

A,
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